A B oW OB OB AN B ¥ OB E
T3 14 44 1FBE

BT 4 HEH B x At B 4 HEHK 5 % &t BT 4 HEH 5 % At
SR 1,715 1,789 1,831 3,620 AEEAE 257 299 312 611 H LA 259 302 319 621
UMY 2E1TH 285 352 363 715 A= B P 402 438 525 963 A HOHT 700 783 853 1,636
OV RE2TH 246 303 320 623 At T 250 256 275 531 /B SERT 23 24 23 47
UMY I3 TH 106 142 146 288 /N B HT 1,716 2,051 2,271 4,328 /N R BT 1,356 1,484 1,631 3,115

HrEE A 332 344 399 743 B OHe HT 31 29 36 65
B/ ®EE 2,352 2,586 2, 660 5, 246 FEHES LT TH 373 585 605 1,190 K P4 omy 40 51 48 99

WEER2 T H 226 349 367 716 (R 22 26 37 63
JE o my 299 384 409 793 EES 3 T H 204 369 349 718 O My 507 631 657 1,288
M ER1TH 203 227 250 477 %A 824 916 1,003 1,919 L= 33 36 46 82
B BEHR2TH 279 278 336 614 ¥ FH T 878 1,035 1,058 2,093
B/ HEH3TH 156 198 237 435 S BRI BEXE 2,971 3, 366 3, 650 7,016
B/ A1 TH 302 345 411 756 EENE IR BEXE 5,462 6, 642 7,170 13,812
B &E2TH 231 248 298 546 & 5y Wy 2,971 3,616 3,864 7,480
B3 TH 373 403 455 858 HENE1TH 265 283 326 609 IoxA1TH 522 567 693 1,260
B/ Hm1TH 244 325 360 685 HENE2TH 188 232 234 466 IoxH2TH 44 558 612 1,170
&M 2TH 397 407 483 890 HENE3TH 277 351 387 738 B2yhH 222 410 431 841
&1 TH 364 360 434 794 x B A 230 226 259 485 EIES=] 202 379 358 737
B &dk2 TH 167 178 194 372 E =) 3,020 3,485 3,797 7,282
/&3 TH 3N 330 379 709 PEAA A T 935 976 1,084 2,060 B INERR REET 4,358 5,530 5,958 11, 488
EEDOH 351 629 638 1,267 Wiy B 687 640 734 1,374

Z, H M 0 0 0 0
B/ BINER ®RE 3,677 4,312 4,884 9,196 ®mO/NER #EXi 5,602 6,193 6,821 13,014 /N HT 1,076 1,151 1,277 2,428
w oA 329 386 474 860

s ] 522 570 693 1,263 By I 328 400 422 822 HoHE1TH 404 411 490 901
BT & 234 437 412 849 & M oEp 713 743 814 1,557 #HOHE2TH 122 133 143 276
Rkl TH 324 397 441 838 i+ my 2,582 2,807 3,142 5,949 #FOHEITH 365 376 420 796
xRz TH 476 586 664 1,250 #HOHE4TH 221 233 256 489
xkf3TH 140 183 194 377 B EINERR K& 3,623 3,950 4,378 8,328 HDOES5TH 169 211 216 427
bkfn4 TH 238 304 300 604 oL HT 216 248 293 541
xkfs5TH 172 245 263 508 R MY 279 317 357 674
w1 TH 336 389 401 790 de s Wy 985 964 1,137 2,101 EEEmENERKREE 2,902 3,149 3,569 6,718
H"H52TH 295 308 368 676 B A 357 348 448 796
B 3T H 260 295 342 637 i 2 HY 325 289 321 610
B4 TH 303 322 373 695 VR4 624 627 683 1,310 (5 (MR
HEME1TH 342 390 439 829 W& T 657 772 857 1,629 O R E it 637 797 829 1,626
BHESHE2TH 190 222 254 476 OB BT 287 266 261 527 B/ B &t 3,027 3,299 3, 837 7,136

A g 282 240 248 488 BN | #t 1, 350 1,715 1, 862 3,577
BB /INVER BEE 3,832 4,648 5,144 9,792 JthT 1 TH 128 88 129 217 =X =] #t 1,194 1,314 1,484 2,798

JelT 2 TH 347 339 385 724 H 5 i 532 612 693 1, 305
HIT el TH 425 481 552 1,033 F fir W 435 363 417 780 BT &t 1,968 2,182 2, 446 4,628
BT oEd2 TH 396 443 484 927 (L W |y 1,045 1,096 1,314 2,410 HE A #t 2,027 2,797 2,955 5, 752
BT Eid3TH 225 246 279 525 (L1 T iy 625 535 641 1,176 £ B A i 659 737 837 1,574
IR 1TH 201 225 232 457 HAES &t 803 1,303 1,321 2,624
by EE2 TH 401 430 497 927 H BN REXEt 6,376 6, 244 7,198 13,442 EENE #t 730 866 947 1,813
LI »IFFE 3T H 320 357 402 759 R B #t 1,949 2,111 2,419 4,530
HIT A 119 120 142 262 XML T H 238 228 259 487 EoxhH it 963 1,125 1, 305 2,430
HER1TH 294 363 384 747 M2 TH 490 494 523 1,017 HKOBETH it 1,281 1, 364 1,525 2, 889
HiES 2 T H 213 242 269 511 32 Jm my 37 28 48 76
HiES 3T H 302 406 427 833 [EEZ LT 238 251 249 500
HiEs 4 T H 553 826 841 1,667 AR TH 1,103 1,190 1,359 2,549
HiES 5 T B 497 716 785 1, 501 AR 2 T H 207 208 248 456 HER E:] = Sit
HiES 6 T B 168 244 249 493 AR S T H 356 412 461 873

HAEE AT H 283 301 351 652 BEREARBRAR 50, 171 56,960 | 62,835 | 119,795
HIMEFNER KEE 4114 5,099 5,543 10, 642 HAEE) A RAT 459 443 536 979

M1 THA 479 554 597 1,151

HIEMm2TH 504 563 555 1,118

S/ 508 569 674 1,243

HEBRINER BEE 4,902 5,241 5,860 11,101
1Bk | REBR  IEHRE



